AMBS8 Upgrade Kit Guide ID: 99 - Draft: 2021-09-10

Rat Rig
AMS8 Upgrade Kit

mlell, Ig@
~H ARDWARE

This document was generated on 2021-12-22 11:49:02 PM (MST).
© 2021 ratrig.dozuki.com/ Page 1 of 5



AMBS8 Upgrade Kit Guide ID: 99 - Draft: 2021-09-10

INTRODUCTION

This guide serves as a complement to the main documentation for the AM8 upgrade, which can be
found here.

This document was generated on 2021-12-22 11:49:02 PM (MST).
© 2021 ratrig.dozuki.com/ Page 2 of 5


https://www.thingiverse.com/thing:2263216

AMBS8 Upgrade Kit Guide ID: 99 - Draft: 2021-09-10

Step 1 — AMS8 Upgrade Kit

e Click image to enlarge.

M5 X 8MM BUTTON HEAD SCREW

SINGLE L CORNER KET

FRONT VIEW

Step 2

e Click image to enlarge.
M5 X 8MM BUTTON HEAD SCREW

SINGLE L CORNER BRACKET

BACK VIEW

This document was generated on 2021-12-22 11:49:02 PM (MST).
© 2021 ratrig.dozuki.com/ Page 3 of 5



AMBS8 Upgrade Kit Guide ID: 99 - Draft: 2021-09-10

Step 3

e Click image to enlarge.

M5 X 8MM BUTTON HEAD SCREW
SINGLE L CORNER BRACKET

TOP VIEW ‘ Ri

~H ARDWARE

Step 4

e Click image to enlarge.

M5 X 14MM BUTTON HEAD SCREW
RUBBER FOOT

-

T v @

YHabRig.

This document was generated on 2021-12-22 11:49:02 PM (MST).
© 2021 ratrig.dozuki.com/ Page 4 of 5



AMBS8 Upgrade Kit

Step 5

FOR ALL REMAINING PARTS
SEE ORIGINAL AM8 BUILD MANUAL

U ARDWARE

g-

This document was generated on 2021-12-22 11:49:02 PM (MST).

© 2021 ratrig.dozuki.com/

Guide ID: 99 - Draft: 2021-09-10

e Click image to enlarge.

Page 5of 5



	AM8 Upgrade Kit
	Written By: Rat Rig
	INTRODUCTION
	Step 1 — AM8 Upgrade Kit
	Step 2
	Step 3
	Step 4
	Step 5


